Thursday, May 03, 2018
6:12 PM

saving journal files Page 1



Name: H_EY Date: Period:
Precalculus Chapter 6 Review

Show ALL WORK on a SEPARATE SHEET OF PAPER.

Solve each triangle. If two solutions exist, find both solutions. If no solution exists, explain why. Round your
answers to the nearest hundredth.
1. A=41°a=155h=13 2. a=4,b=9,c=10

3. B=150°,a=10,b=3 4. B=32°a=10,b=7

5. Write the complex number in trigonometric form: 5 —5i

6. Given z, = 23 -2i, z, =—10i, complete the following:
a. write the two complex numbers in trig form
. Z
b. use the trig forms to find z;z; and =~ where z; £ 0.
z,

7. Use DeMoivre’s Theorem to find the indicated power of the complex number. Write result in standard form.

a. 5[c05£+fsin1] b. (2+3i)
12 12
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5. Write the complex number in trigonometric form: 5 —5i
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Answer Key:

1. B=34.65° C=104.35° ¢=22.15 2. A=23.56°, B=64.06°, C=92.39°

3. No solution 4. Two solutions: 4 =49.20°, ("= 98.80°, ¢ = 13.05
£ (5] T

5. 5‘}5}"&1’5.—’! 1';5*8{1——}

=, A =130.80°, C=17.20° c=3.91
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7@ Y = (b) 2035 — 828i
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A ~130.80°, C=17.20° ¢ ~3.91

SN
—

2 _,_/‘ tow, Y. v oS
).:1-— ‘.\mw 5 o lfrf' &

b 2% ='-wQ_'}‘a'&'s;‘E:—_l—‘'='.‘-.~=|=:_—;_l_:~ g LR
v El=big ANt TR

a

(a
65 ATER

(b)
7. @ TY =+ (b) 2035 — 828i

saving journal files Page 3



M Show ALL WORK on a SEPARATE SHEET OF PAPER. Precalculus Chapter 6 Review
Solve each triangle. If two solutions exist, find both solutlons If no solution exists, explain why. Round your
answers to the nearest hundredth.

1. 4=41°,a=15,b=13 bﬁ" asis st A
. (7]
a4 = b
SiNA  3.nB 0= 180°-A-B 27D A
15 =13 C = |80° -H1°-34,L5° mo"—s‘f.cs'
SinHI®  Sin® C* 10Y.,35° B= 1M5.35°
SINB = 13s5n4)° a £ < 180°-A -0
IS o SinA  3:nC C = J§0°- HI°*-)4s,3S °=
Sin”" (.S¢8¢)=B 5 =-_¢ 2nb A not _possible
Bx 3#,05‘}F STPl sinHI®  Sinio4.3s® one TRIANGIE
¢ =15 5in 104.36°*
Sin4se
C=22,/5
I a
2. a=4,b=9,¢=10 b* a=9 Sss - | A
Quslawot A ©c=° B
Cosines 1o #ind 1argest = | () wse Law od sines 10 At smgllesi £
Cose = Q%4+b™-¢? a - <
2ab SinA  3inc
cosC = (4)*+(4)*-l0* T
2("—#)1‘0)§ SinA s)n 92,39°
oS¢ = (-.0417) “ 30 | SipA = H45iN92.39°
Cos”' (-.047) =C 10
C~ 42,34° 3in”' (,39497) =A
Ax 2356°
@ B= I180°-A-C
B = 180°-23,56* -42.39°
B x¢9.05°
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3. B=150°,a=10,0=3
B

/N Bis lagest £ since it is obivse,
— -3 Largest side_must be opposite largest £
a b* NO SoLunen.

c

4 B=32°,a=10,b=7 bm;o 554 % 01,2 possible As
2° S A

ISTA: A e 2nDA %A—\H
a - b C=13°-A-B = 1§ -4920
SinA  3inB a= 18P-4492°-37 Ao:;so,so 0'=49.20°
10 . I C* 98, 30"
SinA  3in32° L - p e=/80°-A-B
S/0A = 10 .5)0 32° SnCc  35in8 ¢ = /80°-/30,80°-32 *
pos, © s L. - =z €* )7,20°
Sin”' (,1570) = H 5in98.8° S5ins2® | o - p
A % 49.20° C=73in98.8° SinCc  5in8
Sih32° L = =z
C#% 13,05 Sinl72° Sin32°
C= 735/nl172.2°
3iNn32e
Cx 39

5. Write the complex number in trigonometric form: 5 - 5i a=s
r=dJa*46* __ tane' = § b=-5§

r= U(s)2+(-5)* tan e’ =35 -
r= Uso °

0'=%F now@ D

2=0CC056 +435In6)
z =sV2(cos 2T + A sin Z)
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Q)

6. Given z = 2\5 -2i,z

Z, =243 24

, =—10i, complete the following:
a. write the two complex numbers in trig form

22= =01
a=243 ‘]fﬁ a=o
b?'. -2 b,:"o (0,-!)
c= (@5 tane=§ | r=U@HE__ tane= %
r=0ze)?+-2)* tan = ;—%3'-‘ alrs J o* + -0 fane®' =L
— : 3 - >
= 4D meE(®= U

2= 0 (s 3 +i 507 )

2= (C0os6 + L5inD)
2= 4 (Cos 2 +i 5in"] )

b. use the trig forms to find z;z; and A where z; # 0.
z'\

2,2,= 00 l'_'cos(o.+91)+ LSin (8 +8))

= 410 L eos (UF +3F3) +.4 sin (47 +33)
= 40 (Cos ‘-i-yrf.é 57N :r) X we restrict © p<Lo<2r
40 ( Cos 5‘-17" +*4 5/ ELF‘)I X Subriact mul73 oF 2w

J_azﬂ*-._{é”"- 6'7!‘ ?“
21 = 5 [eos(0,—0,)+ i5in (8- 62)])
Z2 ra

—‘L[cos('-’?—é”‘-—’*) tisin(2r-F3)]

2

S,CC'os

+ 4 Sin ﬂ')
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7. Use DeMoivre’s Theorem to find the indicated power of the complex number. Write result in standard form.

4
T .. T r=5
a. {S{COSE+ISIHE):| n=4

2= r"(coshe+isnhne)
z7= SY¢tos 47 + 4 3D ‘/-..,Z;‘ )

= ¢25(cos§ + 4 s5in%)

b (243 Q=2
b=3
r= Uq%b? -mna'l'-' 2 2= r(eosp +45i06)
o= [T tand's 3 27 Ui3(C0S 9828 + 4 5in 932%)

I
@ 94888 <

n 8T 8- 1132!

2" r"(CosnB +isnne) Nl redE
2% = (13)¢ (€0 6 (.4828) + { 5in ¢ (.9923))
2510 %
=247 (.9205 -,3%¢4 1)
= 12035 - 284
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